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Lesson 5. Inteqration By Parts

@ From the Problem Set (posted online),
Example 1. After + weeks , contributions iv response Yo a
local 1"Lufml~r‘0ti5m3J cam:misn were coming n at the rate
of ROOO%-@‘O'H doll acrg per weelk. How much money
was raised in the ficst & weehs? e
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HwW 9.&: When Scumolcs of irgn ore are tested Por potential

mlnmq sites, the orobg,buln‘y (0 to 1) of Pmqu ' S@mﬁ'c

tat Yhas x ocrcenfaqc of iron in the sample Ys descrybee

by yq R )& \,/hrg x 18 also6 bc’rwocn O and |\, Find)
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the probohility 'HnM' o tested Samolc of ron cre ls

at least 29% iron.
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AL least 729% = (0.79,1)

Note you can o this w/ e u-sub. o
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